Rang Nr.
1. 4
2. 1
3. 12
4. 5
5. 11
6. O
7.

8.

9.
10. 10
11.
12.

Paarturnier - Luzern - 12.08.2024

Ergebnis (50 % =135.0 MP)

Paar
Kleinschmidt, Michael — Bilar, Pedro
Wehrli-Wyss, Cristine — Rubeli, Gabriela
Wespi, Marlise — Biitler, Adelbert
Schipper, Isaak — Guter, Werner
Wiilti, Vreni — Bendel, Beatrice
Gisler, Meggi — Wiist, Annamarie
Walter, Marlise — Biitler, Doris
Vital, Theres — Schir, Rita
Bernhardtz, Claes-Goran — Egli, Willi
Kuhn, Monica — Tschopp, Denise
Briner, Maya — van Exel, Wendela

Beylemans, Rita — Gridel, Heidy

Turnierleitung: Marlise

MP
166.0
163.0
158.0
146.0
142.0
141.0
133.0
124.0
121.0
121.0
115.0

90.0

%
61.48
60.37
58.52
54.07
52.59
52.22
49.26
45.93
4481
4481
42.59
33.33

PV



Name des Vereins:

Abrechnung vom

01.07.2024 — 30.06.2025

Zeitraum

Lfd. Nr. FSB Name Vorname PV

1 185 | Bendel Beatrice 21
2 4172 | Beylemans Rita 15
3 3751 | Bilar Pedro 33
4 8706 | Bretscher Hedi 5
5 3373 || Briner Maya 5
6 10040 || Biitler Adelbert 5
7 3488 || Filali Renata 13
8 4231 | Fischer Verena 2
9 5557 | Gisler Meggi 16
10 9955 || Guter Werner 1
11 8894 | Hess Rita 14
12 7750 | Kéllstrom Curt 54
13 6516 || Kleinschmidt Michael 36
14 9154 | Kopainsky Stefan 11
15 9155 | Lanicca Christoph 11
16 1895 | Nadrai Marie-Antoinette 32
17 4090 | Paulon Marianne 2
18 9083 | Rubeli Gabriela 24
19 9335 || Schipper Isaak 12
20 6775 | Schoahs Grazyna 31
21 10123 | Schonenberger Nada 20
22 5012 | Smith Craig 25
23 3874 | Stalder André 20
24 2456 | Steiner Peter 2
25 8897 | Tschopp Denise 14
26 10108 || Vital Theres 5
27 3753 | Walti Vreni 5
28 5540 | Wehrli-Wyss Cristine 41
29 6939 | Wespi Marlise 8
30 2784 | Winter Vreni 9
31 5458 | Wiist Annamarie 12
32
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39
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